





810km?

92

3,000mm

72

13

809

2,702

2,500mm




24

29

29

35

24

29

2,113

35

24

29

9 7 11

11

97




4,500m*/sec

21

9 7 11

41

12

42

15,000ha

115, 000KW

9 7 11

12

1,000m*/s
43

24

3/4

41

4,500m*/s

24

55

42
6,000m*/s
5,000m*/s
40
519, 410KW
10,000ha
6 10




BOD 75

1.0mg/1
1.0mg/1










1,000m*/sec

4
6,000m*/sec

39

5,000m*/sec

000m*/s

33

34

1,000m*/s

7

6,000m*/s

-7-




(m /sec)

(m /sec)

(m /sec)

(m /s)

(m /s)

(m /s)

6,000

1,000

5,000

6,000

1,000

5,000




5,000m*/sec

~ 5,000

m*/sec

5,000m*/s

~ 5,000

m/s




) T.P.C ) (km) (T.P. )
16.0 102.25 14.2 88.36 210
8.0 43.46 0.0 4.30 370
0.0 4.30
T.P.
T.P.
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76 6m*/sec

21.1m*/sec

0.0m*/sec

32.5m*/sec
2.9m*/sec

0.82m*/s

42

2.99m*/s

35

13
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